[bookmark: _GoBack]I request modelling of the following: The couples rate of pension be twice that of a single pensioner. ie. no decrease when become couple. Reasons: 1. data integrity. No financial incentive to non disclosure. 2. reduces rental stress. Household consolidation savings remain with the couple. 3. injection direct to where you want other means to “trickle down” to. 4. strengthen families (foster or adopt). A further means to strengthen families: Offer subsidies to Australian content entertainment in the form of vouchers to (Centrelink) couples. Reason: 1. couples “quality time” together. 2. build local market for Australian content; 3. stimulate cultural export. Please consider. In terms of cost of these measures, This can be more than paid for by: (the increased revenue from) Accepting part payment of company tax in goods and services. Reason: 1. engages marketing budget (Must sell most profitable product); 2. cash flow (delay, over year) 3. increase employment (barter) 4. another segment for “market share” No pay tax, no compete. This is a means of increasing taxation revenue, while decreasing effective tax rate. Please look into it.
